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SOME COMMON POLAR CURVES
Circles and Spiral

r=a r=asinf r=acos @ r=ab
circle circle circle spiral
Limacons
r=a=*bsinf
r=a=xbcost
(a>0,b>0)
Orientation depends on a<b a=b a>b a=2b
the trigonometric function limacon with cardioid dimpled limagon convex limacon
(sine or cosine) and the sign of b. inner loop

Roses

r = a sin nf

r = acos nf
n-leaved if n is odd
2n-leaved if n is even
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r = acos 20
4-leaved rose

r = acos 30
3-leaved rose

r= acos 40
8-leaved rose

r = acos 560
S-leaved rose

Lemniscates
Figure-eight-shaped
curves
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r’> = a*sin 20
lemniscate

2 = q?cos 20
lemniscate
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